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Exercise S8A

1 a 40° b 11 ¢ 90°
d y=140° e a=60° f x=120°
2 B2 b y=130° x=50°

3 g+ b=180 as they are on a straight line
¢ + b = 180 as they are on a straight line
b+ ¢ = 180 as they are on a straight line
d + ¢ = 180 as they are on a straight line

Therefore b = d (the same number must be added tc
¢ to make 180)

4 any 3 values that sum to 360.
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& Yes. there will be a gap of 10° because the angles add

up to 350°

6 Could be angle y N° 79"

Could not be angle y: 95° 105°

7 a 45° b 30° ¢ 150°

Activity page 119

4 d 360°

Exercise 8B

1 a 107° b 80° - ¢ 4%8° d 96°
e 55° g 70 g both are 125°

The angle sum is greater than 360, Wmch is not possible
a+ b + ¢ = 180° because angles in 2 triangle add up to 180°
d + e + f= 180° because angles in a triangle add up to 180°

soa+b+c+d+e+f=360°
Therefore the angle sum of a quadrilateral is 360°.

2
3

4 They add up to 362°

5 78° and 96°

6 a b=45°c=13%° b m=113°
7 2x=48° 3x="72° 4x=96°, 6x = 144°




Exercise 8C
1 aa b b
2 a gaande b bandf

3 a a=50° (corresponding angles)

b b=130° (corresponding),
¢ = 130° (vertically opposite)

¢ c¢=110° (corresponding), e = 110° (vertically opposite),
d = 110° (corresponding or vertically opposite)

d g =40° (corresponding), f = 40°(vertically opposite),
i = 40° (corresponding or vertically opposite),
Jj = 140° (angles on a line) h = 140° (vertically opposite)

e [=n=355° (corresponding), k = 55° (vertically opposite),
m = o = 55° (corresponding)

4 & p=125°,g=r=55°

b x=64°y=116° z=64°

¢ all90°
a=60°,b=70°%c=120°d=110°e=60° f=70°
a and ¢ should have a pair of parallel lines

d When a line crosses a pair of parallel lines, corresponding
angles are equal

e When a line crosses a pair of lines, and corresponding
angtes are equal, the pair of lines must be parallel

wn




Exercise 8D

A3 y b x
2 aw b g Cu
3 B x b p £ ¥
4 a 54° b 147° c 3P d all 75°
S a corresponding b alternate
6 a x=56° (alternate), y = 56° (vertically opposite)
b m=60° (alternate), n = 60° (corresponding)
¢ g =>54° (alternate), h = 63° (alternate)
d r=48° (alternate), s = 48° ( corresponding),
1=48° (alternate)
7 a ABis parallel to DC b AD is parallel to BC
¢ alternate | d corresponding

8 aand ¢ should have a pair of parallel lines
a alternate angles; ¢ corresponding angles
9 x+yv=180°
10 x = 45°
11 Yes, because the one diagonally opposite is equal to the one

you know. The other ones are also equal in size and can be
found by subtracting the known angle from 180°,

12
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a = b (corresponding angles)
@ + ¢ = 180° (angles on a straight line)
since @ = b then a + ¢ = 180° becomes b + ¢ = 180°










Homework book.




83°
97°

a=50° b =140°, ¢ = 120°. d = 50°

Yes. The angles add up to 359°, not 360°.
a a+c=172°

b possible answer: 60° and 12°

t & W=

- 8C-8D

1 a=64°,b=64° |

2 a=140°,b=40" c = 40°

3 a=50°,b=130,0=50°.4d= 50°, ¢ = 130°,
f=50°, g= 130" 4 <

4 a=122°,b=58%c=122°d=122° e =58°,
f=122°,g=158°

5 x=60° 2x=120° ‘

6 x=45°y=135°3x=135°

7 a=70%b=170°c="55°d=125°

8 a=60°b=40° ¢ = 80°
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(1,73), (1, 5), (1, 0)
(°4,°2), (5,-2), (0, 2), (2, 2)

a 7 b 3 ¢ 5
d 6 8 13 f 10
(5,72

(5,72),(11,2)

possible answers: (2, 0), (2, 3), (2, 8)
(1, 1)

(3,2)




